
Section 3.6
La factorisation de 

ax2 + bx + c
par décomposition

(3x + 2)(x + 2)
= 3x2 + 6x + 2x + 4

on récrée cette étape avec 4 termes



= 3x2 + 6x + 2x + 4

= 3x(x + 2) + 2(x + 2)

= (x + 2)(3x + 2)

= 3x2 + 2x + 6x + 4
= x(3x + 2) + 2(3x + 2)

= (3x + 2)(x + 2)

= 6x2 - 8x + 3x - 4

= 2x(3x - 4) + (3x - 4)

= (3x - 4)(2x + 1)

= 2x2 + 4x - 3x - 6

= 2x(x + 2) - 3(x + 2)

= (x + 2)(2x - 3)



= 2x2 - x + 6x - 3

= x(2x - 1) + 3(2x - 1)

= (2x - 1)(x + 3)

= 4x2 - 10x - 10x + 25

= 2x(2x - 5) - 5(2x - 5)

= (2x - 5)(2x - 5)

= (2x - 5)2

= 2(5x2 - 18x - 8) = 3(6x2 + 5x - 4)

= 2(5x2 + 20x - 2x - 8)

= 2(5x(x + 4) - 2(x + 4))

= 2(x + 4)(5x - 2)

= 3(6x2 + 8x - 3x - 4)

= 3(2x(3x + 4) - (3x + 4))

= 3(3x + 4)(2x - 1)
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